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BCOC–131 : FINANCIAL ACCOUNTING  
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Note : (i) Attempt any five questions. 

 (ii) Each question carries 20 marks. 

1. (a) What do you mean by an accounting 

information system ? Outline the 

salient features of an accounting  

system. 10 
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(b) Define accounting process. Explain in 

detail the various stages involved in 

accounting process.  10  

2. (a) Explain the concepts and conventions of 

financial accounting. 10 

(b) Describe the steps involved in framing 

Accounting Standards in India. 10 

3. From the following transactions of M/s. 

Shriram & Sons, prepare cash book : 20 

2018  ` 

Aug. 01 Cash in hand 4,270 

Aug. 05 Purchased an old 

typewriter for  1,500 

Aug. 07 Received cash from 

Shyam & Co. ` 1,980 

and allowed discount of  20 

Aug. 10 Cash sales 5,500 

Aug. 12 Paid to Ramnarain  

` 2,970 and he allowed a 

discount of  30 
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Aug. 14 Sold old newspapers for 60 

Aug. 16 Received from Prasad  

` 985 in full settlement 

of his account for 1,000 

Aug. 18 Purchased goods worth 

from Sanjeev Bros. at a 

trade discount of 10% 

and paid cash 2,000 

Aug. 20 Sold goods worth for 

cash at a trade discount 

of 5% 1,000 

Aug. 24 Settled the account of 

Tiwari of by paying the 

necessary amount after 

deducting a discount of 

3% 500 

Aug. 30 Paid rent 500 

Aug. 30 Deposited in the bank 

the cash in excess of  1,490 



 [ 4 ] BCOC–131 

B–1398/BCOC–131 

4. What do you mean by Depreciation ? Write 

the advantages and disadvantages of Fixed 

Instament Method. 20 

5. (a) Explain the concept of Hire Purchase 

Agreement. 10 

(b) Name the three methods for keeping 

accounts of a dependent branch and 

explain how each method determines 

profit.  10 

6. Krishna Tractors Ltd., Prayagraj,  

has a branch at Hissar. From the  

following particulars relating to the branch 

for the year ending December 31, 2020, 

prepare the Branch Account in the head 

office books :  20 

Balances as on 1-1-2020 : ` 

     Stock at Branch  10,000 
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     Branch Debtors  4,000 

     Petty Cash 500 

     Furniture  2,000 

     Prepaid Insurance  150 

     Salaries Outstanding     1,00,000 

Goods sent to Branch 80,000 

Cash Sales 30,000 

Credit Sales 40,000 

Cash received from Debtors 

(direct to H.O.) 35,000 

Cash paid by Debtors 2,000 

Provide depreciation on 

furniture @ 10% p.a.  
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Discount allowed to Debtors 100 

Cash sent to Branch :   

     Rent  2,000 

     Salaries 2,400 

     Petty Cash 1,000 

Good returned by Branch 1,000 

Good returned by Debtors 2,000 

Stock at Branch on 31-12-2020 5,000 

Petty Expenses paid by Branch 850 

Insurance (upto 31-3-2021) 600 

7. Explain various methods of recording the 

joint venture transactions without 

maintaining separate set of books. 20 

8. Gita of Delhi and Sita of Calcutta entered 

into a joint venture for the purchase and 

sale of goods. The profits and losses are to be 
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shared in the ratio of 2 : 1. Gita purchased 

goods for ` 40,000 and sent them to Sita 

paying ` 3,000 for freight and insurance. 

Gita also incurred sundry expenses 

amounting to ` 400. Sita sold goods for  

` 55,000 and incurred ` 6,000 as expenses. 

Unsold stock valued at ` 7,000 was taken 

over by Sita. Sita remitted the balance due 

to Gita by a bank draft.  

Each party’s ledger contains a record of his 

own transactions in the Joint Venture 

Account.   20 

Prepare : 

(a) Memorandum Joint Venture Account, 

(b) Joint Venture with Sita’s Account in 

Gita’s Ledger, and  

(c) Joint Venture with Gita’s Account in 

Sita’s Ledger.  
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9. Write notes on any two of the following :  

2×10=20 

(a) Computerised Accounting system and 

Manual Accounting Systems 

(b) Different types of vouchers 

(c) Petty Cash Book  
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 BCOC–131 

okf.kT; Lukrd (lkekU;) @  

ch- ,- (O;kolkf;d v/;;u) lw{e] 

y?kq vkSj e/;e m|e (lh- ch- lh- ,l-) 

[ch- dkWe (th-)@ch- ,- oh- ,e- ,l- ,e- bZ-] 

l=kar ijh{kk  

twu] 2025 

ch-lh-vks-lh-&131 % foÙkh; ys[kkadu 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) fdUg° ik¡p iz'uksa ds mÙkj nhft,A  

 (ii) izR;sd iz'u ds 20 vad gSaA 

1- (v) ys[kkadu lwpuk iz.kkyh ls vkidk D;k rkRi;Z gS \ 

,d ys[kkadu iz.kkyh dh eq[; fo'ks"krkvksa dh 

:ijs[kk cukb,A 10 
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(c) ys[kkadu izfØ;k dks ifjHkkf"kr dhft,A ys[kkadu 

izfØ;k esa 'kkfey fofHkék pj.kksa dk foLrkj ls o.kZu 

dhft,A  10 

2- (v) foÙkh; ys[kkadu dh vo/kkj.kkvksa vkSj ijaijkvksa dh 

O;k[;k dhft,A 10 

(c) Hkkjr esa ys[kkadu ekud rS;kj djus esa 'kkfey pj.kksa 

dk o.kZu dhft,A 10 

3- esllZ Jhjke ,.M lal ds fuEufyf[kr ysu&nsu ls] 

jksdM+&cgh rS;kj dhft, % 20 

2018  ` 

vxLr 01 jksdM+ 'ks"k 4,270 

vxLr 05 ,d iqjkuk VkbijkbVj [kjhnk 1,500 

vxLr 07 ';ke ,.M dEiuh ls ` 1]980 

udn izkIr fd, vkSj bruh NwV 

dh vuqefr nh 20 
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vxLr 10 udn fcØh 5,500 

vxLr 12 jkeukjk;.k dks ` 2,970 dk 

Hkqxrku fd;k x;k vkSj mUgksaus 

NwV dh vuqefr nh 30 

vxLr 14 iqjkus v[kckj csps 60 

vxLr 16 izlkn ls mlds [kkrs ds iw.kZ 

fuiVku ds :i esa ` 985 izkIr 

gq,  1,000 

vxLr 18 latho cznlZ ls 10% dh O;kikj 

NwV ij eky [kjhnk vkSj udn 

Hkqxrku fd;k 2,000 

vxLr 20 5% dh O;kikj NwV ij udn 

ewY; dk eky cspk 1,000 

vxLr 24 3% dh NwV dkVus ds ckn 

vko';d jkf'k dk Hkqxrku 

djds frokjh dk [kkrk pqdrk 

dj fn;k 500 

vxLr 30 fdjk;k pqdk;k 500 

vxLr 30 ls vf/kd udnh cSad esa tek 

djkbZ 1,490 
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4- ewY;Îkl ls vki D;k le>rs gSa \ LFkk;h fd'r i¼fr ds 

ykHk vkSj gkfu;k¡ fyf[k,A 20 

5- (v) fdjk;k Ø; vuqcU/k dh vo/kkj.kk dh O;k[;k 

dhft,A  10 

(c) fdlh vkfJr 'kk[kk ds [kkrs j[kus dh rhu fof/k;ksa 

ds uke crkb, vkSj le>kb, fd izR;sd fof/k ykHk 

dSls fu/kkZfjr djrh gSA 10 

6- Ï".kk VªSDVlZ fyfeVsM] iz;kxjkt dh ,d 'kk[kk fglkj esa 

gSA 31 fnlacj] 2020 dks lekIr gksus okys o"kZ ds fy, 

'kk[kk ls lEcfU/kr fuEufyf[kr fooj.kksa ls] iz/kku 

dk;kZy; dh iqLrdksa esa 'kk[kk [kkrk rS;kj dhft, % 20 

1&1&2020 dks 'ks"k %   ` 

     'kk[kk esa LVkWd 10,000 

     'kk[kk nsunkj 4,000 
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     QqVdj jksdM+ 500 

     QuhZpj 2,000 

     iwoZ Hkqxrku chek 150 

     vnÙk osru 1,00,000 

eky 'kk[kk dks Hkstk x;k 80,000 

udn fcØh 30,000 

m/kkj fcØh 40,000 

nsunkjksa ls izkIr udn 

(lh/ks iz/kku dk;kZy; dks) 

35,000 

nsunkjksa }kjk udn Hkqxrku 2,000 

QuhZpj ij 10% izfr o"kZ dh nj ls 

ewY;Îkl iznku dhft, 
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 ` 

nsunkjksa dks NwV nh xbZ  100 

'kk[kk dks udn Hkstk x;k %  

fdjk;k 2,000 

osru 2,400 

QqVdj jksdM+ 1,000 

'kk[kk }kjk ykSVk;k x;k eky 1,000 

nsunkjksa }kjk ykSVk;k x;k eky 2,000 

31&12&2020 dks 'kk[kk esa LVkWd 5,000 

'kk[kk }kjk Hkqxrku fd, x, NksVs&eksVs O;; 850 

chek (31&3&2021 rd) 600 

7- vyx&vyx iqLrdksa dk lsV j[ks fcuk la;qDr  

m|e ysu&nsu dks fjdkWMZ djus dh fofHkék fof/k;ksa dks 

le>kb,A   20 
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8- fnYyh dh xhrk vkSj dydÙkk dh lhrk us eky dh [kjhn 

vkSj fcØh ds fy, ,d la;qDr m|e esa izos'k fd;kA ykHk 

vkSj gkfu dks 2 % 1 ds vuqikr esa lk>k fd;k tkuk gSA 

xhrk us ` 40,000 dk lkeku [kjhnk vkSj eky <qykbZ vkSj 

chek ds fy, ` 3,000 dk Hkqxrku djds mUgsa lhrk ds 

ikl Hkst fn;kA xhrk us Hkh ` 400 dk fofo/k [kpZ mBk;kA 

lhrk us ` 55,000 dk lkeku cspk vkSj ` 6,000 [kpZ 

fd,A ` 7,000 ewY; ds fcuk fcds LVkWd dks lhrk us 

vius dCts esa ys fy;kA lhrk us xhrk dks ns; 'ks"k jkf'k 

cSad Mªk¶V }kjk Hkst nhA 

 izR;sd i{k ds cgh&[kkrs esa la;qDr m|e [kkrs esa mlds 

Lo;a ds ysu&nsu dk fjdkWMZ gksrk gSA 20 

 rS;kj dhft, % 

(v) Lej.kkFkZ la;qDr m|e [kkrk] 
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(c) xhrk ds cgh&[kkrs esa lhrk ds [kkrs ds lkFk la;qDr 

m|e] vkSj 

(l) lhrk ds cgh&[kkrs esa xhrk ds [kkrs ds lkFk la;qDr 

m|eA 

9- fuEufyf[kr esa ls fdUg° nks ij fVIif.k;k¡ fyf[k, %  

2×10=20 

(v) dEI;wVjhÏr ys[kk iz.kkyh vkSj eSuqvy ys[kk iz.kkyh 

(c) fofHkék izdkj ds okmpj 

(l) [kqnjk jksdM+ cgh 

× × × × × 

 

 

 

 

 

 

 

 

 


